



### HORS D'OEUVRES

#### BEEF

#### Albondigas

\$5 Each / Minimum of 20

Skirt Steak and Chimichurri Skewer
\$7 Each / Minimum of 20

Thai Basil Beef Skewers

\$4 Each / Minimum of 20

#### PORK

**Bacon Wrapped Dates** 

\$4 Each / Minimum of 20

**Bacon Wrapped Scallops** 

MKT

Honeydew Melon with Prosciutto

\$5 Each / Minimum of 20

**Pulled Pork Sliders** 

\$5 Each / Minimum of 20

#### ORGANIC CHICKEN

Chicken Vegetable Dumplings

\$3 Each / Minimum of 20

Chicken Waldorf Cup

\$4 Each / Minimum of 20

Sesame Chicken Skewer

\$4 Each / Minimum of 20

Thai Chicken Skewer

\$4 Each / Minimum of 20

#### VEGETARIAN

**Artichoke Rice Balls** 

\$5 Each / Minimum of 20

Brie & Dried Fruit Walnut Crostini

\$4 Each / Minimum of 20

Caprese Skewers

\$ 3.5 Each / Minimum of 20

Guacamole Cup

\$4 Each / Minimum of 20

Mini Tortilla Espanola

\$4 Each / Minimum of 20

Traditional Bruschetta

\$3.5 Each / Minimum of 20

Vegetable Dumplings

\$4 Each / Minimum of 20

#### SEAFOOD

Crab Stuffed Shrimp, Creamy Pesto Sauce

MKT / Minimum of 20

Grilled Yuzu Shrimp Skewer

\$6 Each / Minimum of 20

Mini Crab Cakes

MKT / Minimum of 20

Tuna Tartare

\$7 Each / Minimum of 20



#### APPETIZERS

Baba Ghanoush

QT \$35

Charcuterie & Cheese

12"Tray \$125 / 16" Tray \$175 / 18" Tray \$225

Cheese Platter with Fruit

12"Tray \$70 / 16" Tray \$100 / 18" Tray \$130

Gambas al Ajillo

MKT

Grilled Octopus with Chimichurri

MKT

Homemade Guacamole

QT \$40

Patatas Bravas

1/2 Tray \$25 / Full Tray \$45

Pita, Veggies & Hummus

12"Tray \$40 / 16" Tray \$70 / 18" Tray \$95

Polenta Fries

1/2 Tray \$35 / Full Tray \$65

Short Rib Tostada or Crostini

Full Tray \$180

Spanakopita

1/2 Tray \$50 / Full Tray \$85

Shrimp Cocktail

MKT

**Tostones Con Ceviche Mixto** 

Full Tray \$120

Tostones Con Ropa Vieja

Full Tray \$125



### **EMPANADAS**

Beef Empanadas

\$5 Each / Minimum of 20

Buffalo Chicken Empanada

\$5 Each / Minimum of 20

Chorizo & Manchego Cheese Empanada

\$5 Each / Minimum of 20

Corn Empanada

\$5 Each / Minimum of 20

Ham & Cheese Empanada

\$5 Each / Minimum of 20

Seafood Empanadas

\$7 Each / Minimum of 20

Veggie Empanada

\$5 Each / Minimum of 20



#### PAELLA

Paella Valenciana

1/2 Tray \$95/ Full Tray \$190

Paella de Mariscos

MKT





#### CHICKEN ENTREES

#### Chicken & Artichoke Française

1/2 Tray \$75 / Full Tray \$150

Chicken Française

1/2 Tray \$75 / Full Tray \$150

Chicken Marsala

1/2 Tray \$75 / Full Tray \$150

Chicken Parmesan

1/2 Tray \$75 / Full Tray \$150

Spanish Chicken Kabobs

1/2 Tray \$75 / Full Tray \$150

UTM Chicken

1/2 Tray \$85 / Full Tray \$170



#### VEGETARIAN ENTREES

#### Cauliflower Harissa Rice

1/2 Tray \$45 / Full Tray \$80

Eggplant Parmesan

1/2 Tray \$50 / Full Tray \$90

Eggplant Rollatini

1/2 Tray \$60 / Full Tray \$110

Roasted Vegetable

1/2 Tray \$35 / Full Tray \$65

Vegetable Fried Rice

1/2 Tray \$35 / Full Tray \$65

**Asian Noodles** 

1/2 Tray \$45 / Full Tray \$80



#### BEEF AND PORK ENTREES

Argentinean Meatloaf

1/2 Tray \$75 / Full Tray \$150

**Braised Boneless Short Ribs** 

1/2 Tray \$175 / Full Tray \$350

Mama's Pork

1/2 Tray \$65 / Full Tray \$125

Ropa Vieja

1/2 Tray \$125/ Full Tray \$250

Sausage, Peppers & Onions

1/2 Tray \$45 / Full Tray \$85

Spanish Beef Kabobs

1/2 Tray \$85 / Full Tray \$165

**UTM Boneless Stuffed Pork** 

1/2 Tray \$85 / Full Tray \$155





#### SEAFOOD ENTREES

Crab Cakes

MKT

#### Flounder Franchaise

1/2 Tray \$85 / Full Tray \$170

Grilled Salmon with Basil Aioli

1/2 Tray \$125 / Full Tray \$250

Grilled Salmon with Honey Chive Sauce

1/2 Tray \$125 / Full Tray \$250

Grilled Salmon with Mango Salsa

1/2 Tray \$125 / Full Tray \$250

Poached Salmon with Dill Sauce (Cold)

Full Tray \$250

Seafood Mixto with Linguini Pasta

MKT

Shrimp Fra Diavolo with Linguini Pasta

MKT

Shrimp Scampi with Linguini Pasta

MKT

#### PASTA

Cavatappi Primavera with Pesto

1/2 Tray \$45 / Full Tray \$90

Cheese Tortellini Pasta Salad

1/2 Tray \$45 / Full Tray \$90

Gnocchi Carbonara

1/2 Tray \$55 / Full Tray \$105

Lasagna Bolognese

1/2 Tray \$85 / Full Tray \$160

Orzo Pasta Salad

1/2 Tray \$45 / Full Tray \$90

Penne or Rigatoni Vodka

1/2 Tray \$40 / Full Tray \$75







**Bourbon Sweet Mashed** 

1/2 Tray \$45

Brussels & Bacon

1/2 Tray \$40

Creamy Polenta

1/2 Tray \$35

**Grilled Vegetables** 

1/2 Tray \$45

Loaded Mashed Potatoes (cheddar, sour

cream, bacon, chives)

1/2 Tray \$55

**Mashed Potatoes** 

1/2 Tray \$40

Mashed Potatoes with Cheddar Cheese

1/2 Tray \$50

Mashed Potatoes with Sour Cream & Bacon

1/2 Tray \$50

Potatoes Au Gratin

1/2 Tray \$50

Potato Wedges

1/2 Tray \$35

Roasted Broccoli with Garlic

1/2 Tray \$40

Roasted Red Bliss Potatoes

1/2 Tray \$45

Spanish Rice

1/2 Tray \$45



#### RISOTTO

**Beet & Goat Cheese Risotto** 

1/2 Tray \$55 / Full Tray \$120

Pumpkin, Fig, Goat Cheese Risotto

1/2 Tray \$55 / Full Tray \$120

Seafood Saffron Risotto

MKT

Shrimp Pesto Risotto

MKT

Wild Mushroom Truffle Oil Risotto

1/2 Tray \$55 / Full Tray \$120







#### **Baby Spinach**

Goat Cheese & Candied Pecans with Balsamic
1/2 Tray \$35 / Full Tray \$70

#### Harvest Salad

Arugula-Radicchio-Dates-Candied Pecans-Pear- Blue Cheese-White Balsamic Vinaigrette 1/2 Tray \$35 / Full Tray \$70

#### Mixed Field Greens

Olives-Onions-Cherry Tomatoes-Roasted Peppers-Walnuts-Craisins-Balsamic 1/2 Tray \$30 / Full Tray \$60

#### Shaved Brussels & Arugula

Asiago Cheese-Lemon Parmesan Dressing 1/2 Tray \$30 / Full Tray \$60

#### Spinach and Apple

Gala Apples-Candied Pecans-Pomegranate Seeds-Blue Cheese Crumbles-Bacon Bits-Red Wine Vinaigrette 1/2 Tray \$35 / Full Tray \$70



### SANDWICHES & WRAPS

Chicken Salad Croissant or Wrap

12" Tray \$65 / 18" Tray \$130

Cuban Sandwich

12" Tray \$60 / 18" Tray \$115

Jimmy Jam Sandwich

12" Tray \$65 / 18" Tray \$130

Roasted Veggies & Goat Cheese Wrap

12" Tray \$65 / 18" Tray \$130

Skirt Steak Sandwich

12" Tray \$80 / 18" Tray \$155

Tuna Salad Croissant or Wrap

12" Tray \$65 / 18" Tray \$130